








A certain number of persons are sitting in a row facing to the north. M sits 4th to 

the right G. There is one person sits between D and G. Three persons sit between 

M and P. The number of persons sit between D and M is same as the number of 

persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to 

the left of T and sits to the right of A. Six persons sit between A and Q. Both T and 

K are immediate neighbours of each other. S sits 3rd to the left of K. The number 

of persons sit to the right of K is same as the number of persons sit to the left of D.

एक निनित संख्या में व्यनि उत्तर की ओर मखु करके एक पंनि में बैठे हैं। M, G के दायें से चौथे स्थाि पर 

बैठा ह।ै D और G के बीच एक व्यनि बैठा ह।ै M और P के बीच तीि व्यनि बैठे हैं। D और M के बीच 

बैठिे वाले व्यनियों की संख्या उतिी ही ह ैनितिी नक P के दाई ंओर बैठे व्यनियों की संख्या। केवल A और 

G के बीच एक व्यनि बैठता ह।ै Q, T के बाएं से तीसरे स्थाि पर बैठता ह ैऔर A के दाई ंओर बैठता ह।ै A 

और Q के बीच छह व्यनि बैठते हैं। T और K दोिों एक दसूरे के निकटतम पडोसी हैं। S, K के बायें से तीसरे 

स्थाि पर बैठा ह।ै K के दायीं ओर बैठे व्यनियों की संख्या उतिी ही ह ैनितिी नक D के बायें बैठे व्यनियों की 

संख्या।



A certain number of persons are sitting in a row facing to the north. M sits 4th to 

the right G. There is one person sits between D and G. Three persons sit between 

M and P. The number of persons sit between D and M is same as the number of 

persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to 

the left of T and sits to the right of A. Six persons sit between A and Q. Both T and 

K are immediate neighbours of each other. S sits 3rd to the left of K. The number 

of persons sit to the right of K is same as the number of persons sit to the left of D.



ZYZAYFBBFUUYBFFYUCBBBFNNNIYACAUUAABYYYYYCAUOYC

Q. How many Y’s are there in the above arrangement which is

immediately followed by a Consonant?

उपरोक्त व्यवस्था में कितने Y हैं जो एि व्यंजन िे तुरंत बाद में हैं?

(1) Three

(2) Two

(3) Nine

(4) Six

(5) Seven



Direction: Study the following arrangement carefully & answer 
the following questions:

5 9 4 3 2 6 8 1 5 4 2 7 5 6 6 8 3 4

Which digit will be the 7th at right from the 10th from left in this series?

इस शं्रखला में बायें से 10वें से दायें ओर 7वां अंि िौन सा होाा?

(A) 1

(B) 2

(C) 3

(D) 4



If only one English word is possible from the 3rd, 5th , & 8th letter of the 

word APARTMENT. Which one from the following will be the 1st letter 

of that word? If such a word is not possible, then answer ‘X’ & if more 

than one such words are possible, then answer ‘M’.

यकद APARTMENT शब्द िे तीसरे, पांचवें और आठवें अक्षर से िेवल एि अंगे्रजी 

शब्द सभंव है। कनम्नकलकखत में से िौन सा उस शब्द िा पहला अक्षर होाा? यकद ऐसा 

शब्द सभंव नहीं है, तो 'X' िा उत्तर दें और यकद ऐसे एि से अकिि शब्द सभंव हैं, तो 

'M' िा उत्तर दें।

(A) A

(B) T

(C) X

(D) M



Q. The following questions are based on five words give below:

ACTMHS               INETKA           MBUTAN           JZTHEE           PWQOOF

If in the given words, +2 is done in each consonant in the English alphabetical 

series and -2 is done in each vowel, how many words will start or end with vowel?

यकद कदए ाए शब्दों में अंगे्रजी वर्ाानुक्रकमि श्ररंखला में प्रत्येि व्यंजन में +2 किया जाये 

और प्रत्येि स्वर में -2 किया जाये है, तो इस तरह से कितने शब्द स्वर से शुरू या समाप्त 

होंाे?

(1)  More than three 

(2)  Three 

(3)  Two 

(4)  One 

(5)  None 



Q. The following questions are based on five words give below:

ACTMHS               INETKA           MBUTAN           JZTHEE                PWQOOF

How many letters are there between fourth letter of second word from the left and 

sixth letter of third word from the right in alphabetical series?

वर्ामाला श्ररंखला िे अनुसार, बायें से दूसरे शब्द िे चौथे अक्षर और दायें से तीसरे शब्द

िे छठवें अक्षर िे बीच में िुल कितने अक्षर हैं

(1)  Seven 

(2)  Five 

(3)  Six 

(4)  Three 

(5)  Nine 



Statements : A > F ≤ C = D < E

Conclusions: I. A > E

II. F < E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statements : A > C = M ≥ R < H

Conclusions: I. A > R

II. C ≥ H

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement : B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X 

II. Z ≤ C

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. T < O 

II. T = O

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions: I. A > D 

II. S ≤ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



Q. In a Certain code MIND is written as 1913197 ,than find the code for 

JOY ?

Q.एि कनकित िोड में MIND िा िोड 1913197 कलखा ाया है तो JOY िा िोड

क्या होाा ?

1. 111729

2. 131931

3. 121719

4. 191820

5. None of these



Q. In a Certain code FLOWER is written as 9115 ,than find the code 

for COMPUTER ?

Q.एि कनकित िोड में FLOWER िा िोड 9115 कलखा ाया है तो COMPUTER 

िा िोड क्या होाा ?

1. 9115

2. 91111

3. 91155

4. 991155

5. None of these



Q. In a Certain code FATHER is written as LBVPJA ,than find the code 

for BABY ?

Q.एि कनकित िोड में FATHER िा िोड LBVPJA कलखा ाया है तो BABY िा

िोड क्या होाा ?

1. DBBE

2. DBDF

3. DBDT

4. DBBF

5. None of these



Thinking , without , solution is coded as 45 , 18 , 60

Something , between , creation  is coded as 30 , 29, 15

Agree , thing , diverted , problem is coded as 20 , 19 , 9 , 11

Holding , to , handle , success is coded as 24 , 15 , 6 , 26

What  is code of “ Portugal “ ?

A. 36 B. 22

C. 16 D. 37

E. NOT



Statements:

Only tables are chairs.

Some tables are desks.

Conclusions:

I. All chairs are desks.

II. Some desks are 

tables.

िथन: 

िेवल मेज िुकसायााँ हैं। 

िुछ टेबल डेस्ि हैं। 

कनष्िर्ा: 

सभी िुकसायााँ डेस्ि हैं। 

िुछ डेस्ि टेबल हैं।



Statements:

Only tables are chairs.

Some tables are desks.

Conclusions:

I. All chairs are desks.

II. Some desks are tables.



Statements :

Only a few teachers are 

doctors.

0% teachers are lawyers.

Conclusions :

I. All lawyers are teachers.

II. Some doctors are not 

lawyers.

िथन: 

िेवल िुछ कशक्षि डॉक्टर हैं। 

0% कशक्षि विील हैं।

कनष्िर्ा: 

सभी विील कशक्षि हैं। 

िुछ डॉक्टर विील नहीं हैं।



Some All No Some not Only Only a few

Frequently 100% 0% Not more than None but All but some

Generally Each None Only few

Occasionally Every Only a few not

Sometimes Complete

Mostly/almost/ap
proximately

Full

At least Every single

A few / few / 
fewer

Maximum

Minimum

1-99%

Fraction



Statements :

Only a few teachers are 

doctors.

0% teachers are lawyers.

Conclusions :

I. All lawyers are teachers.

II. Some doctors are not 

lawyers.



Statements :

All circles are squares.

Some squares are rectangles.

Conclusions :

I. All rectangles being squares is 

a possibility.

II. All circles are rectangles.

िथन: 

सभी वरत्त वाा हैं। 

िुछ वाा आयत हैं।

कनष्िर्ा: 

सभी आयतों िे वाा होने िी 

संभावना है। 

सभी वरत्त आयत हैं।



Statements :

All circles are squares.

Some squares are rectangles.

Conclusions :

I. All rectangles being squares is 

a possibility.

II. All circles are rectangles.



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 

possibility.

िथन: 

िेवल राम एि क्लिा  है। 

राम १००% ईमानदार हैं।

कनष्िर्ा: 

सभी राम ईमानदार हैं।

सभी क्लिा  िे ईमानदार होने 

िी संभावना है।



Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 

possibility.



A family consists of eight members J , K , L , M , E , F , G and H . K is the 

parents of E who is the only sister of J . H is father in law of K . M is the only 

daughter of H . G is the son of F who is son in law of H . L is father of J .

एि पररवार में आठ सदस्य होते हैं J, K, L, M, E, F, G और H। K, E िा माता-कपता है जो J 

िी एिमात्र बहन है। H, K िा ससुर है। M, H िी एिमात्र बेटी है। G, F िा पुत्र है, जो H िा 

दामाद है। L, J िा कपता है। 

How many female are there among the given members of the family ?

पररवार िे कदए ाए में कितनी मकहला सदस्य हैं? 

(A) Two   

(B)  Three

(C)  Four

(D) More than Four 

( E) CND



Q. In a class of 90 students, numbers of boys are twice the number of 

girls. Rani is 58th from the left end and there are 20 boys to the right of 

Rani, then find the number of girls to the left of Rani? (if Rani is girl)

90 छात्रों िी एि िक्षा में, लड़िों िी संख्या, लड़कियों िी संख्या िा दो ाुना 

है। रानी बाए ंछोर से 58 वें स्थान पर हैं और रानी िे दाकहने ओर 20 लड़िे हैं, तो 

रानी िे बाई ंओर लड़कियों िी संख्या क्या होाी? (अार रानी लड़िी है) 

(1) 15 

(2) 16

(3) 17 

(4) 19

(5) None of these 



Certain people are sitting in a row 

facing north. There are as many people 

to the right of Z as there are to the left 

of Z. Y is third to the left of U who sits 

fourth from one of the extreme ends of 

the row. T sits at one of the extreme 

ends of the row. There are five persons 

sitting between T and W. X sits exactly 

in the middle of T and W. Two person 

sits between W and Z. Y does not sit at 

the extreme ends of the row. There are 

as many persons sitting between Y and 

V as many are sitting between W and Y.  

िुछ व्यकक्त एि पंकक्त में उत्तर िी ओर उन्मुख

बैठे हैं |Z िे दाएं और कजतने व्यकक्त हैं उतने ही

Z िे बाई ओर हैं | Y ,U िे बाई ओर से तीसरे

स्थान पर है जो िी पंकक्त िे किसी एि छोर से

चौथे स्थान पर बैठा है | T एि छोर पर बैठा है

| W  और T िे बीच पांच व्यकक्त बैठे हैं |X, 

W  और T िे ठीि बीच में बैठा है | W  और

Z िे बीच दो व्यकक्त बैठे हैं | Y पंकक्त िे किसी

भी छोर पर नहीं बैठा है |Y और Vिे बीच

उतने ही व्यकक्त बैठे हैं कजतने W  और Yिे

बीच बैठे हैं |



Certain people are sitting in a row facing north. There are as many people to the 

right of Z as there are to the left of Z. Y is third to the left of U who sits fourth 

from one of the extreme ends of the row. T sits at one of the extreme ends of the 

row. There are five persons sitting between T and W. X sits exactly in the middle 

of T and W. Two person sits between W and Z. Y does not sit at the extreme ends 

of the row. There are as many persons sitting between Y and V as many are sitting 

between W and Y.



P, Q ,R, S ,T , U , V , W are 

sitting in a circular table facing 

inside. Three persons are sitting 

between P and Q.  Q sits second 

to the right of R.

V is the immediate left of P .  

Two  person sit between R and S.  

U is second to the right of V.  W 

is not an immediate neighbour of 

V.

P, Q, R, S, T, U, V, W एि 

ाोलािार टेबल िे अंदर बैठे हैं। 3

व्यकक्त P और Q िे बीच बैठे हैं। 

Q, R िे दाई ंओर दूसरा व्यकक्त है।

V, P िे एिदम बाए ंहै। R और S 

िे बीच में दो व्यकक्त बैठते हैं। U, V

िे दाई ंओर से दूसरा है। W, V िा 

तत्िाल पड़ोसी नहीं है।



P, Q ,R, S ,T , U , V , W are 

sitting in a circular table 

facing inside. Three persons 

are sitting between P and Q.  

Q sits second to the right of 

R. V is the immediate left of P 

.  Two  person sit between R 

and S.  U is second to the 

right of V.  W is not an 

immediate neighbour of V.



Eight friends – Alia, Bhanu, Charu, Deena, Eshan, 

Fatima, Gaurav and Hira purchased bungalows on same 

date of different years viz. 1988, 1993, 1995, 1996, 

2000, 2001, 2006 and 2009 but not necessarily in same 

order. They all have purchased their bungalows on 1st of 

June of their respective years.

(Note- For calculation of time period, please consider 

1st June 2018 as cut-off date.)

Bhanu purchased his bungalow immediately before 

Deena.

Only one person purchased his bungalow between Deena 

and Eshan, who purchased in a leap year.

Two people purchased bungalow between Fatima and 

Gaurav who purchased it 12 years ago.

Alia was neither the first nor the last person to buy a 

bungalow.

Eshan does not bought the bunglow before 1996.

आठ दोस्त - आनलया, भाि,ु चारू, दीिा, ईशाि, फानतमा, 

गौरव और हीरा िे अलग-अलग वर्षों की एक ही तारीख 

को बंगले खरीद।े 1988, 1993, 1995, 1996, 2000, 

2001, 2006 और 2009 लेनकि आवश्यक िहीं इसी क्रम 

में हो। इि सभी िे अपिे-अपिे साल के 1 ििू को अपिे 

बंगले खरीद ेहैं। (िोट- समयावनि की गणिा के नलए कृपया 

1 ििू 2018 को कट-ऑफ नतनथ मािें।) 

भाि ुिे अपिा बंगला दीिा से ठीक पहले खरीदा। दीिा और 

ईशाि के बीच केवल एक व्यनि िे अपिा बंगला खरीदा, 

निसिे एक लीप वर्षष में खरीदा। बंगला फानतमा और गौरव 

के बीच दो लोगों िे खरीदा, निन्होंिे इसे 12 साल पहले 

खरीदा था। आनलया बंगला खरीदिे वाली ि तो पहली और 

ि ही आनखरी शख्स थीं। ईशाि िे 1996 से पहले बंगला 

िहीं खरीदा ह।ै



Eight friends – Alia, Bhanu, Charu, Deena, Eshan, 

Fatima, Gaurav and Hira purchased bungalows on same 

date of different years viz. 1988, 1993, 1995, 1996, 

2000, 2001, 2006 and 2009 but not necessarily in same 

order. They all have purchased their bungalows on 1st of 

June of their respective years.

(Note- For calculation of time period, please consider 

1st June 2018 as cut-off date.)

Bhanu purchased his bungalow immediately before 

Deena.

Only one person purchased his bungalow between Deena 

and Eshan, who purchased in a leap year.

Two people purchased bungalow between Fatima and 

Gaurav who purchased it 12 years ago.

Alia was neither the first nor the last person to buy a 

bungalow.

Eshan does not bought the bunglow before 1996.



In a General Store, 8 boxes - A, B, C, D, 

E, F, G and H are placed one above 

another but not necessarily in that 

order. Each box has a number written 

on it from 1 to 8 but not necessarily in 

the same order. Number 1 is at the top, 

number 8 is at the bottom and others 

accordingly.

Box E is placed below box H. Box A is 

on number 7. Box F is not on number 5. 

Box B is on number 4. Either box D or 

Box C is on number 1. Box G is not on 

number 3 and 5. Box F is not on 

number 2 and 3. Box D is on number 8.

एि स्टोर में, 8 कडब्बे- A, B, C, D, E, F, G 

और H एि िे ऊपर एि रखे ाये हैं; लेकिन 

जरूरी नहीं कि इसी क्रम में हो। प्रत्येि बॉक्स

पर 1 से 8 ति एि संख्या कलखी ायी है। नंबर 

1 शीर्ा पर है, संख्या 8 सबसे नीचे है और इसी 

प्रिार अन्य कडब्बे भी रखे ाए हैं।

बॉक्स E िो बॉक्स H िे नीचे रखा ाया है। 

बॉक्स A नंबर 7 पर है। बॉक्स F नंबर 5 पर नहीं 

है। बॉक्स B नंबर 4 पर है। बॉक्स D या बॉक्स 

C नंबर 1 पर है। बॉक्स G नंबर 3 और 5 पर 

नहीं है। । बॉक्स F नंबर 2 और 3 पर नहीं है| 

बॉक्स D नंबर 8 पर है।



In a General Store, 8 boxes - A, B, C, D, 

E, F, G and H are placed one above 

another but not necessarily in that 

order. Each box has a number written 

on it from 1 to 8 but not necessarily in 

the same order. Number 1 is at the top, 

number 8 is at the bottom and others 

accordingly.

Box E is placed below box H. Box A is 

on number 7. Box F is not on number 5. 

Box B is on number 4. Either box D or 

Box C is on number 1. Box G is not on 

number 3 and 5. Box F is not on 

number 2 and 3. Box D is on number 8.



There are 10 members in the family who are sitting at some distance from 

each other in a park. N is 4 m in the west of M, who is 5 m in the north of O. 

Q is 12 m in the west of R. T is 3 m in the west of S, which is 12 m in the 

south of R. O is 6 m in the east of V, which is 2 m in the north of P, which is 

8 m in the west of U. T is 1 m in the south of U. 

पररवार में 10 सदस्य हैं िो एक पाकष  में एक दसूरे से कुछ दरूी पर बैठे हैं। N, M के पनिम में 4 मीटर

ह,ै िो O के उत्तर में 5 मीटर ह।ै Q, R के पनिम में 12 मीटर ह।ै T, S के पनिम में 3 मीटर ह,ै िो R के

दनिण में 12 मीटर ह।ै O, V के पवूष में 6 मीटर ह,ै िो P के उत्तर में 2 मीटर ह,ै िो U के पनिम में 8 

मीटर ह।ै T, U के दनिण में 1 मीटर ह।ै

In which direction is U with respect to M? /M के सन्दभष में U नकस नदशा में ह?ै

1. North 2. East 3. South-East 4. North-West 5. None of these



There are 10 members in the family who are sitting at some distance from each 

other in a park. N is 4 m in the west of M, who is 5 m in the north of O. Q is 12 m 

in the west of R. T is 3 m in the west of S, which is 12 m in the south of R. O is 6 

m in the east of V, which is 2 m in the north of P, which is 8 m in the west of U. 

T is 1 m in the south of U. 



Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in 

different flats of different floors. There are four floors 

in a building as ground floor is numbered as 1 and 

above it is 2 and so on upto top floor numbered as 4. 

Each of the floor consist of 3 flats as flat-1, flat-2 and 

flat-3. Flat-1 of floor-2 is immediately above flat-1 of 

floor-1 and immediately below flat-1 of floor-3 and so 

on. In the same way flat-2 of floor-2 is immediately 

above flat-2 of floor-1 and immediately below flat-2 of 

floor-3 and so on. Flat-2 is in east of flat-1 and flat-3 is 

in east of flat-2.

Two persons live between J and K. J lives above K but 

both are living in the same flat number. A is to the east 

of I but none of them lives on same flat and same floor 

number on which J and K live. No one lives in the west 

of J. Only one person lives between C and G who lives 

below C. L lives to the east of G. F lives immediately 

above B and in the same flat number. D is to the west of 

H. L lives below E and H does not live on the top floor. 

E does not live in flat-2. C and G lives in the same flat 

number.

बारह व्यकक्त अथाात ्: A, B, C, D, E, F, G, H, I, J, K, L अला 

अला तलों िे अला अला फ्लैट पर रहते हैं। एि इमारत में चार तल 

हैं, सबसे कनचले तल िी संख्या 1, उससे ऊपर िी 2 और आाे इसी 

तरह से शीर्ा तल िी संख्या 4 है। प्रत्येि तल पर 3 फ्लैट हैं अथाात ्: 

फ्लैट-1, फ्लैट-2 और फ्लैट-3। तल-2 िा फ्लैट-1, तल-1 िे फ्लैट-2 

िे ठीि ऊपर है और तल-3 िे फ्लैट-1 िे ठीि नीचे है और आाे इसी 

तरह से। समान तरीिे से तल-2 िा फ्लैट-2, तल-1 िे फ्लैट-2 िे ठीि 

ऊपर है और तल-3 िे फ्लैट-2 िे ठीि नीचे है और आाे इसी तरह से। 

फ्लैट-2, फ्लैट-1 िे पूवा में है और फ्लैट-3, फ्लैट-2 िे पूवा में है।

J और K िे बीच में दो व्यकक्त रहते हैं। J, K िे ऊपर रहता है लेकिन 

दोनों समान फ्लैट संख्या में रहते हैं। A, I िे पूवा में है लेकिन उनमें से 

िोई भी उसिे समान फ्लैट और समान तल संख्या पर नहीं रहता है 

कजस पर J और K रहते हैं। िोई भी J िे पकिम में नहीं रहता है। C 

और G, जो C िे नीचे रहता है, िे बीच िेवल एि व्यकक्त रहता है। L, 

G िे पूवा में रहता है। F, B िे ठीि ऊपर रहता है और समान फ्लैट 

संख्या में रहता है। D, H िे पकिम में है। L, E िे नीचे रहता है और H 

शीर्ा तल पर नहीं रहता है। E, फ्लैट-2 में नहीं रहता है। C और G 

समान फ्लैट संख्या में रहते हैं।



Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in different flats of different 

floors. There are four floors in a building as ground floor is numbered as 1 and 

above it is 2 and so on upto top floor numbered as 4. Each of the floor consist of 3 

flats as flat-1, flat-2 and flat-3. Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In the same way flat-2 of floor-2 

is immediately above flat-2 of floor-1 and immediately below flat-2 of floor-3 and so 

on. Flat-2 is in east of flat-1 and flat-3 is in east of flat-2.

Two persons live between J and K. J lives above 

K but both are living in the same flat number. A 

is to the east of I but none of them lives on same 

flat and same floor number on which J and K 

live. No one lives in the west of J. Only one 

person lives between C and G who lives below 

C. L lives to the east of G. F lives immediately 

above B and in the same flat number. D is to the 

west of H. L lives below E and H does not live 

on the top floor. E does not live in flat-2. C and 

G lives in the same flat number.


